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Section : Mental Ability1

Q.1 Find the wrong term in the series:

LJH, IGE, FCB, CAY
Ans X" 1 CAY

o 2. FcB
75 3.LH
/X 4.1GE

Question ID : 54592730303

Q.2 Ani is the daughter of Mani. Mani’s mother is Amaya. Emi is Amaya’s mother. Emi’s
husband is Herry. Krishna is the mother in law of Herry. How is Ani related to Herry?

Ans « 1. Great Grand Daughter
75 2. Grand Niece

X 3. Daughter

x 4. Great Grandson’s Daughter

Question ID : 54592730317

Q.3 In the following question, select the related letter / word / number from the given
alternatives.

Brain : human :: : computer
Ans X" 1 Keyboard

/X 2.RAM

75 3. Hard disk

W 4.cru

Question ID : 54592730307

Q.4 Find out the next term:

GH10, MN15, RS20,
Ans o 1 Wx25

X 2.vz1
X 3.GIF

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258019281/1258019281512D560/15680146085994096/1127...  1/48




https://cdn.digialm.com//per/g01 /pubWéMMMHJFOLQ[S%%%’JQQ§dJQH 258019281/1258019281512D560/156801460859...

9/10/2019
X 4.EF7
Question ID : 54592730302
Q.5 Choose the odd one from the given alternatives.
Ans X" 1 FEC
W 2. vt
75 3.RQO
X 4 HF
Question ID : 54592730305
Q.6 In the following question, select the related letter/word/number from the given
alternatives.
GROW : COMV : : SHOW :
Ans X" 1. OMEV
W 2. OEMV
/X 3.PFVM
75 4. ROMV
Question ID : 54592730309
Q.7 In the question below is a statement followed by two conclusions numbered | and .
You have to assume everything in the statement to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statement.
Statement:
I. All employees who do not work properly bring a bad name for themselves and also
are a liability to an organization.
Conclusions:
I. Such employees should be fired from the organisation.
1. Strict action is required in such cases.
Ans x 1. Only conclusion | follows
« 2. Only conclusion Il follows
x 3. Neither conclusion | nor conclusion Il follows
X 4. Both conclusion | and conclusion Il follow
Question ID : 54592730319
Q.8 In the question below, there are three statements followed by two conclusions. You
have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically
follow(s) from the given statements.
Statements:
I. All fans are bulbs.
Il. Some bulbs are walls.
lll. All walls are roofs.
Conclusions:
|. Some walls are bulbs.
Il. Some roofs are fans.
Ans x 1. Either conclusion | or Il follows
( 2. Only conclusion | follows
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x 3. Only conclusion Il follows

X 4. Neither conclusion | nor Il follows

Question ID : 54592730318 ]

Q.9 In a psychology test of 6 students- P, Q, R, A, B, and C, the teacher found following
information regarding the intelligence level of students.

P is more intelligent than A.
R is less intelligent than C.

P is more intelligent than Y.
Q is as much intelligent as B.

If B and C are not the most intelligent student, than who will be the most intelligent
student?

Ans X 1A
X 2.a
X 3R
ar

Question ID : 54592730313

Q.10 In the following question, a group of letters is given which are numbered 1, 2, 3,4, 5
and 6. Below are given four alternatives containing combinations of these numbers.
Select that combination of numbers so that letters arranged accordingly, form a
meaningful word.

LRPEAY
123456

Ans " 1425613
/X 2.315624
75 3.314625

of 4. 315642

Question ID : 54592730312 ]

Q.11 If ‘ball’ is ‘tennis’, ‘tennis’ is ‘chess’, ‘chess’ is ‘hockey’, ‘hockey’ is ‘ludo’ and ‘ludo’ is
‘basketball’, what is cricket played with?

Ans X" 1. Ludo

/X 2. Ball
J 3. Tennis

X 4. Hockey

Question ID : 54592730311 ]

Q.12 If HEAD is coded as 1438 and BRING is coded as 76952, what do the figures 6438952
stands for?

Ans X" 1 HIGHER
/X 2.DIEING
75 3. HEATING

o 4 READING

Question ID : 54592730310

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258019281/1258019281512D560/15680146085994096/1127...  3/48



9/10/2019 https://cdn.digialm.com//per/g01 /pubWééAéﬁéﬁJt_oLQIS}{aéﬂl%Jng§dJec’/1 258019281/1258019281512D560/156801460859...

Q.13 Find the odd one out from the given alternatives.
Ans  of 1 Brass
75 2. Zinc
/X 3. Silver
x 4. Iron
Question ID : 54592730304 ]
Q.14 From the given responses, find the missing letter in the series:
GJ, KH,IL,MJ,?
Ans  of 1 KN
X 2.KL
75 3. VN
K 4m
Question ID : 54592730301 ]
Q.15 Choose the odd one from the given alternatives.
Ans " 1 HI:SR
75 2.EF: WU
/5 3.CD:XwW
o 4.M:PQ
Question ID : 54592730306 ]
Q.16 A, B, C, D and E play Hockey. 3 players from Hockey were selected to form Team 1.
I. A is always selected.
Il. Exactly one among B and C is always selected
lll. D will not participate if B is selected.
IV. E will not play with C
Which among the given option is a possibility of team to be selected?
Ans  of 1 pBE
/< 2. ADE
/X 3.BEC
/< 4.ADB
Question ID : 54592730316 ]
Q.17 There are five books kept one over the other. Two books are of English language, two
books are of Management, and one book is of Statistic. One book of Management is in
the top shelf and other one is in the last shelf. Book of Statistic is kept just above
English language book. One book of English is kept just above Management book.
English books are kept adjacent to each other.
Which book is kept in second shelf?
Ans « 1. Statistic
x 2. Either English language or Statistic
X 3. Management
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x 4. English language

Question ID : 54592730315

Q.18 Five students Karan, Charan, Lavan, Pavan, and Sravan, are top five rankers of a
class. No two students got same rank. The number of students who got better rank
than Pavan is same as those who got a worse rank than Lavan. Only one student got a
worse rank than Karan. Who among the following is the first ranker?

Ans J 1. Lavan

x 2. Sravan
x 3. Pavan
x 4. Karan

Question ID : 54592730314 ]

Q.19 Complete the following series:

10, 20, 60, 300, ?
Ans  of 12100

/X 2.2120
/X 3.3500
75 4.1200

Question ID : 54592730320

Q.20 In the following question, select the related letter / word / number from the given
alternatives.

TIME : CLOCK :: :
Ans x 1. Hair spring : wrist watch

J 2. Date : calendar
x 3. Sincerity : disloyal

x 4. Paper : pen

Question ID : 54592730308 ]

Section : Mental Ability2

Q.1 In the following question, select the related letter / word / number from the given
alternatives.

420, 425, 440

Ans  of 1 465
/X 2.470
/X 3.475
/X 4.455

Question ID : 54592730325

Q.2 In the following question an unfolded dice is given. From the given alternatives which
of the following will be opposite of A?
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v]

[ ]
[o]=|m] »]

e

(x

Ans X' 1.0
X 2.u

X 3E

v N

Question ID : 54592730339

Q.3 In the following questions, element (ii) is related to element (i) in a particular way in
four pairs of figures. Find out the pair of figures in which the element (ii) is not related
to element (i).

Question ID : 54592730335

Q.4 The second figure in the first unit of the problem figures bears a certain relationship to
the first figure. You have to select that figure from the set of answer figures which
would come in the place of question mark (?)

Problem Figures
A O o - A O

o o0 v * o O
1 2 3 &

{1.0

Ans

p=g

<]
=]

X 4

P Ol a o0 o
¢ 0o ol o

[ Question ID : 54592730333
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Q.5 In the following question a piece of paper is folded in the manner shown in the
question figure(s). Select the figure out of the answer choices showing the unfolded
pattern after the punches (cut).

Question Figures

7™ !
TN, K
o
H -
Ans 0 3
X 1.
E -
<2 *

x o RS
. =

Question ID : 54592730337 ]

Q.6 Which of the following diagrams best represents a relationship among Tank, Lake and
Sea?

Ans

P !

v-(0)O

Question ID : 54592730330 ]

Q.7 In the given figure, the rectangle represents Arts, and Hexagon represents Commerce
and triangle represents Science circle represents other group. Which number
represents the group of person of Science and arts but not commerce or any other
group?
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Ans X 1.7
X 2.4
X 38
o 46

Question ID : 54592730331 ]

Q.8 Find the wrong term in the given series:

31, 63, 127, 250, 511

Ans X" 1 31
K 2,127
o 3.250
/X 4.63

Question ID : 54592730321 ]

Q.9 Count the number of cubes in the given figure:

Question ID : 54592730340 ]

Q.10 Given interchanges: signs + and x, and numbers 7 and 21; then the value of 7 x 21 + 2
is

ans XK 1s
K212
W36
X 4.16

Question ID : 54592730327 ]

Q.11 Choose the odd number pair from the given options:
Ans & 1.342:252

75 2.624:534
o 3.442:362

75 4.241: 151

Question ID : 54592730323 ]
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(X).

Question
Figure

Q

Ko

Ans

V2

X3

r

> B B> B>

Q.12 Find out which of the figure (a), (b), (c), (d) can be formed from the pieces given in fig.

Question ID : 54592730338

Q.13 Insert the missing number:

2 3 [
5@2 4@1 s@a
4 5 ]
Ans X1.32
/< 2,94

/X 3.86
W 4.8

Question ID : 54592730326

Q.14 Choose an appropriate figure from the four numbered figures for the place of the

questions mark (?).

Problem Fizures

Ans

X
@ @>@@
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Question ID : 54592730334

Q.15 Two figures forming the problem figure and four other answer figures are given. Select
a answer figure which possess the same characteristic as Question figure.

Question figures

Ko

Ans

<
&R [N |eo| 8

Question ID : 54592730332

Q.16 Choose the correct water image from the given alternatives.

Ans X1 LV D
v2Ccva

X3CAL
XaCvr

Question ID : 54592730336

Q.17 Choose the odd number pair from the given options:

Ans X" 1.16:47:49
o 2.10:38:66
75 3.25:56:36

K 4.4:23:9

Question ID : 54592730324

Q.18 Choose the odd one from the given options:

Ans ' 1 38
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X 2.76
/X 3.9
of 464
Question ID : 54592730329 ]
Q.19 In the question given below, there is a statement followed by two conclusions. You
have to take the given statement to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically
follow(s) from the given statements.
Statements:
P=U<M<=K=I=N
Conclusions:
LN=K
oi=p
Ans J 1. If only conclusion Il is true
X 2. If either conclusion | or Il is true
x 3. If only conclusion | is true
X 4. If neither conclusion | nor Il is true
Question ID : 54592730328 ]
Q.20 Choose the odd one from the given options:
Ans " 1 284
75 2.1089
o 3861
/< 4.576
Question ID : 54592730322 ]

Section : General Awareness1

Q.1 v=u+at, given is the equation of motion. Which of the following pairs given are not
correctly matched in reference to the above equation.

Ans ( 1. v = distance travelled
x 2. u = initial velocity
X 3. a = acceleration

x4.t=time

Question ID : 54592730348

Q2 prafaf@a & ¥ Fi @ AT STETURT YL ASEER A yarfed 78 @t ¥7
Ans X" 1. 3TCITERT STETEIRT

7< 2. TR Feumr
(3.91?&51-‘@?1
75 4. 3cR ST STerRT

Question ID : 54592730358 ]
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Q.3 Which of the following rivers is known as Tsang Po in Tibet and Jamuna in
Bangladesh?

Ans X 1. Yamuna

J 2. Brahmaputra
X 3. Ganga
75 4.Indus

Question ID : 54592730356 ]

Q.4 Biopsy and histopathological studies of the tissue and blood and bone marrow tests,
are the diagnostic tests for:

Ans X' 1 Malaria
o 2. Cancer
/X 3. Cholera
/X 4.ADS

Question ID : 54592730355

Q.5 The Ganga-Satluj plains in the north-west and black soil region of the Deccan is
important for production of which crop?

Ans X' 1. Bajra
75 2. Rice
o 3. Wheat
75 4. Ragi

Question ID : 54592730359

Q.6 The Phyang Tsedup is a festival in the Phyang Monastery of
Ans x 1. Mawsynram

75 2. Aizwal
o 3. Ladakh

x 4. Gangtok

Question ID : 54592730343 ]

Q.7 Which of the following are tested to show the presence of carbohydrates in food?
Ans X" 1. Protein

X 2. Fats

x 3. Vitamins

( 4. Starch

Question ID : 54592730350 ]

Q.8 If a person is infected with some deadly microbes to which quick immune response is
required, we need to directly inject the preformed antibodies. This type of
immunisation is known as:

Ans x 1. Active immunisation

J 2. Passive immunisation
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x 3. Allergic immunisation

X 4. No such type of immunisation exist

Question ID : 54592730354 ]
Q.9 Gustatory receptors will detect (i) while olfactory receptors will detect (ii) .
Ans X" 1_(i) Taste, (ii) touch
75 2. (i) touch, (i) smell
( 3. (i) Taste, (ii) smell
75 4. () smell, (ji) taste
Question ID : 54592730353 ]

Q.10 Burrakatha is a highly dramatic form of ballad of .
Ans " 1. Tamil Nadu

#5 2. Madhya Pradesh
J 3. Andhra Pradesh

x 4. Uttar Pradesh

Question ID : 54592730342

Q.11 In which of the following Union Budgets was the PM-KISAN or Pradhan Mantri Kisan
Samman Nidhi launched?

Ans X" 1. Interim Budget 2019
o 2. Union Budget 2019
x 3. Union Budget 2017

75 4. Union Budget 2018

Question ID : 54592730345

Q.12 Where is the Golconda Fort situated?
Ans X" 1 Nashik

( 2. Hyderabad

x 3. Bengaluru

/5 4. Nainital

Question ID : 54592730344 ]

Q.13 Which of the following is not indicated by elevated Total Dissolved Salts (TDS)?
Ans X" 1. Salty or brackish taste

x 2. Causes water to be corrosive
J 3. Itis a serious health hazard

X 4. elevated levels of ions

Question ID : 54592730351 ]

Q.14 The annual population growth rate of India according to Census 2011 is:
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Ans X" 1,254 percent
x 2. 2 percent
J 3. 1.64 percent

x 4. 4 percent

Question ID : 54592730360 ]

Q.15 Which of the following options has the correct sequence of mountain ranges from
North to South in India?

Ans X 1. Zaskar, Karakoram, Ladakh, Shiwalik
x 2. Ladakh, Karakoram, Shiwalik, Zaskar
x 3. Karakoram, Zaskar, Ladakh, Shiwalik

J 4. Karakoram, Ladakh, Zaskar, Shiwalik

Question ID : 54592730357 ]

Q.16 Which of the following abiotic factor affects seeds as they grow into young plants?
Ans J 1. Air, water, heat and light

X 2. Air, water and heat only
X 3. Water and light only

X 4. Air and water only

Question ID : 54592730352 ]

Q.17 Which of the following is an economic condition in which there is a simultaneous
inflation with high unemployment and stagnant demand?

Ans J 1. Stagflation
x 2. Hyperinflation
75 3. Deflation

X 4. Recession

[ Question ID : 54592730347 ]

Q.18 What is the thinking behind adapting the “sky blue” coloured theme in the Economic
Survey 2018-19?

Ans X" 1. Warding off the global risks
x 2. Managing the financial adversities
J 3. New ideas for policymaking

x 4. Preparing to meet the needs of the young demography

Question ID : 54592730346 ]

Q19 g1z qray FeHR ¥ &84T F1 T TRIRF gl
Ans X 1. Rl

75 2. e

X 3T

J 4. F[cT-ACH
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Question ID : 54592730341 ]
Q20 oré ¥ gt 7 GIT AT A Y O AT &Y AT ¥ FA:
Ans X" 1. HIgT T el SETET Qe &1
/< 2. 5ol IFa ¥
#< 3. T 7 Al 3TN AT B
V4. a1 ever e g &1
Question ID : 54592730349 ]

Section : General Awareness?2

Q.1 Which of the following is a book written by Nirad C. Chaudhari?
Ans J 1. The Autobiography of an Unknown Indian

75 2. A Suitable Boy
X 3. A Train to Pakistan

x 4. Discovery of India

Question ID : 54592730371

Q.2 Which of the following aspects of the Indian Constitution was described by Dr. B. R.
Ambedkar as a ‘novel feature’?

Ans J 1. Directive Principles of State Policies
x 2. Fundamental Duties
X 3. Preamble

x 4. Fundamental Rights

Question ID : 54592730374

Q.3 Who is the Head of the World Health Organisation (WHO) and where is its
headquarters located?

Ans x 1. Tedros Adhanom, The Hague
x 2. Pascal Lamy, Geneva
X 3. Pascal Lamy, The Hague

J 4. Tedros Adhanon, Geneva

Question ID : 54592730372

Q.4 Who out of the following is the present President of France?
Ans X" 1_Francois Hollande

x 2. Justin Trudeau
J 3. Emmanuel Macron

x 4. Angela Merkel

Question ID : 54592730369 ]

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258019281/1258019281512D560/15680146085994096/112...  15/48



9/10/2019 https://cdn.digialm.com//per/gO1/pubWéMMMHJFOLQ&%%’JQQ§GJQM 258019281/1258019281512D560/156801460859...

Q.5 Which of the following sportsperson and his respective sport is incorrectly matched?
Ans X" 1. Andy Murray - Tennis
x 2. Manuel Neuer - Football
J 3. Sebastian Vettel — Hockey
X 4. Peter Handscomb - Cricket
Question ID : 54592730380 ]
Q.6 Which of the following options have the correct sequence of the Mughal emperors
chronologically?
Ans X" 1. Jehangir, Akbar, Humayun, Shah Jahan
J 2. Humayun, Akbar, Jehangir, Shah Jahan
x 3. Shah Jahan, Akbar, Jehangir, Humayun
x 4. Akbar, Shah Jahan, Humayun, Jehangir
Question ID : 54592730363 ]
Q.7 Who out of the following is considered as the “father of modern chemistry”?
Ans x 1. Henry Moseley
J 2. Antoine-Laurent de Lavoisier
x 3. John Newlands
#< 4. Dmitri Mendeleev
Question ID : 54592730373 ]
Q8 Grafaf@a & ¥ B Fafta afRe (dmsve) 1 yorar A sar 82
Ans X 1. mgrrEfel O.ue. seTach 3R FaTEEf & IS @eet
/X 2. it arel aRTesh 3R SRew A=TeS arerelaren
v s STl dl. 3R, S0 3T 3R et d.uet. Harae
7% 4. 7T & 3. FEUT 3R 3R A Al ARl
Question ID : 54592730375 ]
Q.9 (i) became the first player to score (ii) centuries in a single World Cup
edition recently.
Ans X" 1_(i) Virat Kohli (ii) 3
o 2. (i) Rohit Sharma (i) 5
7% 3. (i) Johnny Bairstow (i) 4
/X 4. (i) Kane Williamson (ii) 5
Question ID : 54592730378 ]
Q.10 What is the name of the book where the rules made by the Buddhist Sanghas were laid
down?
Ans X" 1 Stotra
x 2. Vinaya Pitaka
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( 3. Mahabhinishkramana

x 4. Panchatantra

Question ID : 54592730362

Q.11 India’s latitudinal and longitudinal extent extends from respectively.

Ans X" 1. 12°4'N and 40°6'N and 48°7'E and 77°25'E
of 2.8°4N and 37°6'N and 68°7'E and 97°25'E
7% 3.18°4'N and 47°6'N and 18°7'E and 37°25'E

75 4.28°4'N and 57°6'N and 8°7'E and 29°25'E

Question ID : 54592730361 ]

Q.12 In which of the following stadiums was the final match of the ODI World Cup 2019
held?

Ans X" 1. Emirates OId Trafford
x 2. Headingley

J 3. Lord’s

x 4. Edgbaston

Question ID : 54592730379 ]

Q.13 Lord Hastings became the first Governor General in India in
Ans X' 1 1772

X 2.1778
X 3.1775
o 41773

Question ID : 54592730365 ]

Q.14 Who out of the following was a businessman and publicist settled in London, and also
a member of the British Parliament for some time?

Ans X" 1. Pherozeshah Mehta
x 2. Surendranath Baneriji
of 3. Dadabhai Naoroji

x 4. Romesh Chandra Dutt

Question ID : 54592730367 ]
Q.15 Which of the following films won the Best Film Award at the Oscars 2019?
Ans  of 1 Green Book
x 2. BlacKkKlansman
x 3. Roma
x 4. Bohemian Rhapsody
Question ID : 54592730370 ]

Q.16
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et v gaar SRy A ofY, e weT o o fF af 1859 # siter ammer anfot & Ed @ aia
T & fT 1gdl FY Aol ey ThHR F & fw Jerqy @t frar srean?

Ans X 1. JraieFeist Adeh

25 2. Jifereew Raw wieres

o 3 T g
X 4. Regd eraer
Question ID : 54592730366 ]
Q.17 Which of the following cabinet ministers and his portfolio is correctly matched?
Ans X" 1. Amit Shah — Ministry of Defence
x 2. Ravi Shankar Prasad — Ministry of Food Processing Industries
x 3. Ram Vilas Paswan — Ministry of Rural Development
J 4. Nitin Jairam Gadkari — Ministry of Micro, Small and Medium Enterprise
Question ID : 54592730368 ]

Q18 SramgvaTer Aew & fFg A # Rumaas § MeRe 3227 TFeT FY 30 TorT?
Ans X 1. 26 A, 1946

o 2. 13 R, 1946
#< 3. 24 SR, 1946
75 4. 22 5ieTady, 1946

Question ID : 54592730377

Q.19 Which of the following Constitutional Amendment Acts is related to the transfer of the
Berubari Union No. 12 from India to Pakistan?

Ans ( 1. 9th Constitutional Amendment Act
x 2. 7Tth Constitutional Amendment Act
X 3. 4th Constitutional Amendment Act

x 4. 2nd Constitutional Amendment Act

Question ID : 54592730376

Q.20 Who out of the following belongs to the Sayyid Dynasty of the Delhi Sultanate?
Ans X" 1. Shamshuddin litutmish

75 2. Ghiyasuddin Balban
X 3. Raziyya Sultana

o 4. Khizr Khan

Question ID : 54592730364 ]

Section : Arithmetic Ability1

Ans

Q.1 What least value must be assigned to * so that the number 4567*234 is divisible by 9? |
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5
X 2.3
7K 3.4
X 42

Question ID : 54592730389 ]

Q.2 What approximate value should come in place of the questions mark (?) in the
following questions?

2 of4011.33 + - of 3411.22 =9
8 10

Ans X" 1.4930

75 2.4810
o 3.48%0
75 4.4980

Question ID : 54592730383 ]

Q.3 A shepherd has 945 brown sheeps and 2475 red sheeps. He wants to graze them in
minimum number of groups in such a way that each group has same colour of animals
and also contains equal no. of animals in each group. Find such minimum no. of
groups.

Ans ' 1 56
75 2.84
/X 3.70
o 476

Question ID : 54592730387

Q.4 What should come in place of the '?' in the following question?

wa161}0 + 576 = (2)2

Ans " 1 81
X 23
o 322
/X 4.6561

Question ID : 54592730382 ]

Q.5 The number of boys and girls in a class is in the ratio 5 : 3. 20% of the boys denied to
go for a picnic while 30 girls are ready to go for the picnic. If total 94 students are
ready to go for the picnic, then what is the total number of girls in the class?

Ans  of 1 18
X 2.33
/X 3.51
75 4.39

[ Question ID : 54592730394 ]
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Q.6 There are three numbers a, b and c. 25% of a is equal to the 12% of b. 20% of b is equal
to the 10% of c. By what percent c is more than a?

Ans X" 1,250 percent
x 2. 24 percent
J 3. 316.67 percent

X 4. 125.33 percent

Question ID : 54592730395 ]

Q.7 The average of six numbers is 75. The average of first five numbers is 64. The average
of last five numbers is 80. Find the difference between first and last number.

Ans ' 1.65
/X 2.50
/X 3,94
o 4.8

Question ID : 54592730392 ]

Q.8 The selling price of a product A and a product B are in the ratio 5 : 1. Product A was
sold at Rs. 800 and 60% profit earned on it. Product B was sold at 25% profit. Find the
total cost of product A and product B (in rupees).

Ans  of 1 608
75 2.580
/X 3.548
K 4712

Question ID : 54592730398

Q.9 What approximate value will come in place of the question mark?

(13.96)* — (15.03)* +(18.09)* —=32.65=2?
Ans  of 1 264
/X 2,223

/X 3.334
/X 4.354

Question ID : 54592730381 ]

Q10 5+ 244 — 3x3 + 22 + 2x + 8 divisible by x + 2 what will be remainder ?
Ans "1 128

W 232

/X 3.16

/X 4.64

Question ID : 54592730388
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Q.11 What should come in place of the question mark (?) in the following questions?

[12 x 5 - {200 - (501 + 247 - 386)}] +2 = ?

Ans X 182
o 2. 111
/X 3.62
/< 4.61

Question ID : 54592730386 ]

Q.12 How many numbers between 1 to 1000 which are multiples of 6 but not of 18?

Ans  of 1 111
5 2.110
K 3112
75 4.100

Question ID : 54592730390

Q.13 The ratio of number of males to females in a colony is 3 : 2. The ratio of employed to
unemployed persons among males is 5 : 4. Find the ratio of employed males to the
total number of persons in the colony.

Ans  of 113
X 2.3:5
K 3.2:5
F RE

N

Question ID : 54592730400 ]

Q.14 The average age of seven men, ten women and two boys is 35 years. The average age
of all the seven men is 39 years. The average age of all the ten women is 36 years. Find
the average age of two boys (in years).

Ans " 117
X 2.14
/X 3.15
o 416

Question ID : 54592730391 ]

Q.15 What should come in place of the question mark (?) in the following questions?

610 &
-X—+- xX62=2
272 2

Ans " 1.175

/K 2.170
75 3.190
o 4180

Question ID : 54592730384 ]
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Q.16 Aditi spends 48% of her income for food, 25% of the remaining on traveling, one third
of the remaining on entertainment which is equal to Rs. 2600. If she saves the rest,
find her saving (in rupees).

Ans X" 15450
o 2.5200
75 3.6500
75 4.4800

Question ID : 54592730396

Q.17 The marked price of a product is 40% above its cost price. Two successive discounts
of 10% and 5% are given on marked price. If the difference between two discounts is
Rs. 154, then find the difference between cost price and marked price (in Rupees).

Ans " 1.720

/X 2.750
75 3.1000
o 4800

Question ID : 54592730393 ]

Q.18 Shrikant sold a microwave by offering a discount of 10% and earned 35% profit. The
marked price of microwave is Rs. 18000. Find the profit earned by him (in Rupees).

Ans  of 1 4200

/X 2.3600
75 3.4070
/X 4.3950

Question ID : 54592730399 ]

Q.19 What should come in place of the question mark (?) in the following questions?

24%2-13%2472
19
Ans &1 22
W 224
X 3.21
X 418

—?

Question ID : 54592730385

Q.20 A milkman bought 60 litres of milk at Rs. 30 per litre. For every four litres of milk he
added one litre of water and sold the entire mixture at Rs. 32 per litre. Find his profit
percentage.

Ans X" 1.16.66 percent
J 2. 33.33 percent
x 3. 20 percent
X 4. 25 percent

Question ID : 54592730397 ]
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Section : Arithmetic Ability2

Q.1 The ratio of volumes of two cubes is 343 : 729. What is the ratio of their total surface
areas?

Ans  of 1 49:81

/K 2.7:81
/X 3.64:125
/X 4.36:49

Question ID : 54592730413

Q.2 Rs. 7000 amounted to Rs. 8780.8 in 2 years at a certain rate of compound interest. In
what time will Rs. 9000 amounted to Rs. 12240 at the same rate of simple interest (in
years)?

Ans X 1.2
23
X 325
K415

Question ID : 54592730404 ]

Q.3 If the diagonal and the area of a rectangle are 29 m and 420 square meter respectively,
what is the length of the rectangle?

Ans x 1. 22 meter

( 2. 21 meter
x 3. 18 meter

X 4. 25 meter

Question ID : 54592730412 ]

Q.4 40 men can finish a piece of work in 40 days. They started the work together, but after
every 10 days, 5 men leave the work, the whole work will finish in?

Ans X" 156 days

x 2. 42%{!&}'9

Vs Sﬁgdays

x 4. 54 days

Question ID : 54592730409

Q5 Fournumbers (k—3), (k—1), (k+ 1) and (k + 5) are in proportion. Find the value of (k? +k).

Ans " 1110
o 2.56
/5 3.30
K472

[ |
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l Question ID : 54592730402 J

Q.6 A Express train covers a distance of 3584 km in 2 days 8 hours. If it covers 1440 km on
the first day and 1608 km on the second day, by how much does the average speed of
the train or the remaining part of the journey differ from that for the entire journey?

Ans  of 1 3kmihrs
/X 2.2 km/hrs
75 3.4 kmihrs
75 4.10 kmhrs

Question ID : 54592730408 ]

Q.7 The following pie-chart gives the break-up (in degrees) of land with various continents.
Answer the questions on the basis of the pie-chart given.

Figure in degrees

13

If the total area is 180 million sqg. miles, what will be the area under E and G?

Ans  off 1.60 million sq.miles
75 2.50 million sq. miles
75 3.56 million sq.miles

75 4. 46 million sq.miles

Question ID : 54592730416

Q.8 At the rate of 9% per annum at simple interest a person obtained Rs. 864 as interest in
four years. How much more interest could he get if the rate of interest was 13% per
annum (in rupees)?

Ans " 1656
75 2.548
of 3384
/X 4.248

Question ID : 54592730403 ]

Q.9 The length of a train and that of a platform are equal. If with a speed of 108 km/hr the
train crosses the platform in one minute. Then the length of the train (in metres) is:

Ans  of 1 900

/< 2.1800
/X 3.2700
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/X 4.450

Question ID : 54592730406

Q.10 Two persons earns in the ratio 4 : 7. If both earns Rs. 3000 more, the ratio of earning
will be 2 : 3. Find the sum of their earning (in rupees).

Ans " 1.13200

o 2. 16500
/X 3.15400
75 4.19800

Question ID : 54592730401

Q.11 By walking at 2 of his usual speed Bholu reaches his office 20 minutes later than his usual time. The usual time
taken by him to reach his office is:

Ans X" 1.75min
o 2.60 min
75 3.30 min
#< 4.40 min

Question ID : 54592730407 ]

Q.12 A is 20% more efficient than B.They both together complete the work in 20 days.In how
many days B will alone complete the work?

Ans " 112 days

X 2. 48 days
J 3. 44 days

X 4. 24 days

Question ID : 54592730410 ]

Q.13 The following table shows the world production of steel in 1920-1927. Study the table
and answer the question.

Production (in million tons)
150
100 7130 e s - TE23 Saa Ol 10017
50 43.51
0

1920 1921 1922 1923 1524 1925 1926 1927

The difference of the production of steel in the year 1923 and 1924 is x% of year 1927.
Then the value of x approximately?

Ans X" 1.0.001
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Question ID : 54592730420

Q.14 Sameer borrowed Rs.14000 at 15% per annum and Rs. 18000 at 11% per annum at
simple interest. The total interest paid by him at the end of the two years will be (in
rupees).

Ans X" 1.7240
o 28160
75 3.7920
/X 4.7600

Question ID : 54592730405 ]

Q.15 A can complete a work in 10 days. B can complete the same work in 15 days. If B
starts the work and A joins him after 5 days, then in how many days will the work be
completed?

Ans X' 1.8
X 2.6
K37
o 49

Question ID : 54592730411 ]

Q.16 Study the following graph carefully to answer these questions:

Production of an article of Various Companies in @ month
1200

1000

_— 1000
800
500
E00 566
200
200 -
0 : : : . :
A B c o E F

& Unit Produced

What is the approximate average number of article produced by all the Companies
together?

Ans X" 1720

o 2. 758
X 3.725
75 4.900

Question ID : 54592730418 ]

Q.17 Refer the below data table and answer the following question.
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9/10/2019
Weight (kg) Height (m)
Archita 87 1.63
Arpana 67 1.51
Arpita 57 1.56
Arnindhat 73 1.59
Who has the least weight?
Ans o 1 Arpita
#< 2. Archita
/5 3. Arundhati
x 4. Arpana
Question ID : 54592730415
Q.18 Study the following table carefully to answer these questions:
Populations (in thousands) of Six States over
the years
STATE
Years
A B C D E F
1992 | 125 | 210 85 150 98 138
1985 | 136 | 226 89 170 | 110 152
1998 | 142 | 240 93 180 | 130 160
2001 | 148 | 250 99 215 | 140 175
2004 | 155 | 270 105 | 230 | 145 190
2007 | 160 | 290 | 110 | 240 | 160 198
Which state had the highest percent rise in population from 2001 to 2004?
Ans X" 1B
X 2.c
/5 3D
W 4F
Question ID : 54592730417
Q.19 Four equal sized maximum circular pages are cut off from a square paper sheet of
area 3136 square cm. The circumference of each plate is:
Ans X" 1.89cm
/X 2.86cm
/X 3.84cm
of 4.88cm
Question ID : 54592730414
Q.20 Study the following graph carefully to answer these questions:
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Production and sale of Mobile of Various Companies in a month
1000

10

cBEEHEBHEBEES
X

s init Produced s Unit Sold

The total mobiles sold by Companies D, E and F together are approximately what
percent of the total mobiles produced by D, E and F together?

Ans X 1. 75 percent
J 2. 86 percent
X 3. 28 percent

x 4. 72 percent

Question ID : 54592730419

Section : General English1

Q.1 Identify the segment in the sentence which contains the grammatical error from the
given options.

One digger in illegal bore wells freely admitted to me that he had paid a bribe to get a
permit for a deep well-after he had already dug it.

Ans J 1. One digger in illegal bore wells
x 2. freely admitted to me that
x 3. for a deep well

x 4. he had paid a bribe to get a permit

Question ID : 54592730424

Q.2 Select the most appropriate word to fill in the blank.

The Indian Space Programme from its very inception geared towards
national development.

Ans X 1. has
x 2. have
J 3. has been

x 4. have been

Question ID : 54592730432

Q.3 Select the most appropriate word to fill in the blank.

The Indian law prohibits the employment children in factories but the law is
violated several times.
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Ans X" 1 by
x 2. from
J 3. of
X 4 at

Question ID : 54592730431

Q.4 Identify the segment in the sentence which contains the grammatical error from the
given options.

A lunar eclipse occurs when the sun, Earth, and the moon align so that Earth’s
shadow falls above the lunar disk.

Ans x 1. A lunar eclipse occurs
x 2. align so that Earth’s shadow
J 3. falls above the lunar disk.

x 4. when the sun, Earth, and the moon

Question ID : 54592730423

Q.5 Select the most appropriate word to fill in the blank.

the world moves away from capital intensive industrial base to knowledge
intensive information base, the role of the service sector will increase substantially.

Ans & 1. With

x 2. For
X 3. By
o 4 As

Question ID : 54592730437 ]

Q.6 Select the most appropriate word to fill in the blank.

The nineteenth century saw the advent of the telegraph, the telephone, and the camera
the development of the automobile.

Ans J 1. along with
X 2. together as
x 3. in spite of

X 4. but also

Question ID : 54592730434 ]

Q.7 Select the most appropriate word to fill in the blank.

It is only initiative that one can take appropriate action to implement ideas,
programmes and projects.

Ans X 1.y
25 2.in
o 3. through
#< 4. beside

Question ID : 54592730436 ]
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Q.8 Select the most appropriate word to fill in the blank.

The practical gardener knows that both seed and the soil are necessary the
proper growth of a plant.

Ans " 1 of
X 2.py
W 3. for
X 4in

Question ID : 54592730433

Q.9 A sentence has four parts, rearrange the given parts so as to form a meaningful
sentence.

A: oversees groundwater extraction has just six employees,
B: enforce the law in this sprawling city.
C: In Bangalore, the governmental department that

D: and thus no earthly way to monitor and
Ans  of 1. CADB

/5 2.CDAB

/< 3.CBDA

/X 4.CDBA

Question ID : 54592730440 ]

Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

To coping with the heats, many cities are planting trees and carving out open spaces.
Ans x 1. No substitution required

X 2. Coped with the heat
x 3. Cope with the heat

« 4. To cope with the heat

Question ID : 54592730430 ]

Q.11 Identify the segment in the sentence which contains the grammatical error from the
given options.

President John F. Kennedy deliver a stirring speech to Congress praising the
importance of sending an astronaut to the moon.

Ans x 1. President John F. Kennedy
X 2. an astronaut to the moon.
x 3. praising the importance of sending

« 4. deliver a stirring speech

Question ID : 54592730421 ]

Q.12 Rearrange the following sentences in their correct order to form a meaningful
paragraph.

A: For exotic beauty, few flowers rival the ghost orchid.
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B: It’s long been thought that only one insect, the giant sphinx moth, had a long
enough proboscis to pollinate these orchids—but new images and research prove that
wrong.

C: As they feed, moths rub against a pollen source and pick up grains they’ll transfer
to other orchids they visit.

D: These rare orchids have long nectar tubes into which moths stick their tongue like
proboscises to reach a sugary reward.

Ans X" 1 ACDB

75 2.ACBD

/< 3.ABDC
o 4. ADCB

Question ID : 54592730439 ]

Q.13 Identify the segment in the sentence which contains the grammatical error from the
given options.

If you’re not actually studying the affect of emotions on others, we’re missing an
important social aspect.

Ans X 1. important social aspect.
x 2. we're missing an
« 3. the affect of emotions on others

x 4. If you're not actually studying

Question ID : 54592730425 ]

Q.14 Select the most appropriate word to fill in the blank.

The major positive point of the communication revolution is that it has brought people
together and the feeling of a global village.

Ans “ 1. fostered

X 2. has foster
x 3. fostering

x 4. foster

Question ID : 54592730435 ]

Q.15 Select the most appropriate word to fill in the blank.

being one of the ten most industrialized nations in the world, Indian industry
has lagged behind other countries in effective and proper use of inputs.

Ans o 1 Despite

/5 2.But
x 3. In spite

X 4. Because

Question ID : 54592730438

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

In October 1997, tourists near San Francisco, witnessed two killer whales attacked a
great white shark and consumed its liver.
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Ans X" 1. No substitution required
X 2. attack a great white shark and consumed
x 3. attacked a great white shark and consume

« 4. attack a great white shark and consume

Question ID : 54592730426 ]

Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

The orca population off South Africa is less well studied than the one off California, in
part because humans rarely encounter them.

Ans « 1. No substitution required
X 2. are less well studied than
x 3. are lesser well studied then the one

X 4. is less well study than the one

Question ID : 54592730429 ]

Q.18 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

Its like that orcas targeted shark livers because they’re high-fat and delicious.
Ans x 1. It's likely that orcas targeted

/5 2. 1ts like that orcas target
x 3. No substitution required

« 4. It’s likely that orcas target

Question ID : 54592730427 ]

Q.19 Identify the segment in the sentence which contains the grammatical error from the
given options.

Visitors to the Kennedy Space Center can learned about the progress and failures of
space exploration.

Ans « 1. can learned about the
X 2. Visitors to the Kennedy Space Center
x 3. progress and failures

X 4. of space exploration.

Question ID : 54592730422 ]

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

We all experience the constant drama of the new and the constant sorrow of the losing
of what we had left behind.

Ans x 1. the losing of what we had leaved behind
X 2. the loss for what we've leave behind
«. 3. the loss of what we’ve left behind

X 4. No substitution required

( 1
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l Question ID : 54592730428 J |

Section : General English2

Q.1 Select the word which means the same as the group of words given.

The practice or art of choosing, cooking, and eating good food.
Ans x 1. Idolatry

x 2. Horticulture
x 3. Hydrophobia

J 4. Gastronomy

Question ID : 54592730453

Q.2 Select the synonym of the given word.
Venerable
Ans X" 1. Primitive
X 2. Dependable
x 3. Conventional

J 4. Celebrated

Question ID : 54592730446 ]

Q.3 Select the word which means the same as the group of words given.

Relating to or affecting cattle.
Ans x 1. Canine

J 2. Bovine
#< 3. Feline
x 4. Leonine

Question ID : 54592730454 ]

Q.4 Select the synonym of the given word.

Erroneous
Ans J 1. Mistaken

x 2. Accurate
x 3. Misfortune

x 4. Uncommon

Question ID : 54592730442

Q.5 Select the antonym of the given word.

Sophisticated
Ans " 1 Cultivated

x 2. Lukewarm

J 3. Unrefined
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x 4. Cynical

Question ID : 54592730445 ]

Q.6 Select the meaning of the given idiom.

Pull yourself together
Ans X" 1. To loosen the hold

x 2. To refuse to agree
J 3. To calm oneself down

x 4. To recollect past memories

Question ID : 54592730451 ]

Q.7 Select the wrongly spelt word.
Ans J 1. Dileberate

X 2. Pathology

x 3. Callous

75 4. Admonish

Question ID : 54592730448 ]

Q.8 Select the meaning of the given idiom.

Miss the boat
Ans X" 1. To arrive late

x 2. Fail to board the train
x 3. To lose something valuable

“ 4. To lose the opportunity

Question ID : 54592730450 ]

Q.9 Select the wrongly spelt word.
Ans X" 1. Chronicle

X 2. Salutation
x 3. Demean

o 4. Jubilliant

Question ID : 54592730449 ]

Q.10 Select the wrongly spelt word.
Ans x 1. Beginning
x 2. Increment

J 3. Zeallous

x 4. Imagination

Question ID : 54592730447
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Q.11 Select the meaning of the given idiom.

Back to square one

Ans X" 1. To restart a failing business
x 2. To design something new
J 3. Back to the very first stage

X 4. To return favor

Question ID : 54592730452 ]

Q.12 Select the antonym of the given word.

Extravagant
Ans X 1. Endearing

J 2. Reasonable
X 3. Reckless

75 4. Credible

Question ID : 54592730443 ]

Q.13 A sentence has four parts, rearrange the given parts so as to form a meaningful
sentence.

A: is full of sounds: birds chirping, wind rustling through trees,
B: the ears of both predator and prey are attuned to one another’s presence.
C: and insects humming about their business.

D: Even on the quietest days, the world.
Ans  of 1 DACB

/5 2.DBCA

#< 3.DABC

/5 4.DCBA

Question ID : 54592730441 ]

Q.14 Select the word which means the same as the group of words given.

A passage between rows of seats in a building such as a church or theatre, an aircraft,
or train.

Ans x 1. Acronym

#< 2. Antidote

x 3. Alimony
of 4. Aisle

Question ID : 54592730455 ]

Q.15 Select the synonym of the given word.

Hideous
Ans x 1. Sorrowful

J 2. Unpleasant
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x 3. Improper
x 4. Articulate

Question ID : 54592730444

Q.16
Ans

Comprehension:

Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer’s mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.

SubQuestion No : 16
The mass communication tools available to the marketers doesn’t include:

x 1. Public Relations
( 2. Television
x 3. Sales Promotion

75 4. Advertising

Question ID : 54592730458

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019281/1258019281512D560/15680146085994096/112...

Comprehension:

Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer’s mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
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the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.
SubQuestion No : 17

Q.17 From among the given options, choose the one which is most nearly the same as the
word ‘Cognition’ as used in the 2nd paragraph, 3rd line:

Ans " 1 Influence

x 2. Interference

( 3. Perception

x 4. Distinction

Question ID : 54592730461
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Comprehension:

Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer’s mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.
SubQuestion No : 18

Q.18 As a subset of marketing mix, advertising is associated with one of the following:
Ans " 1 Price

x 2. Place

( 3. Promotion

x 4. Product

Question ID : 54592730457

Comprehension:

Answer the questions based on the following passage:
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Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer’s mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.

SubQuestion No : 19
Q.19 Which of the following points has not been discussed in the passage?

Ans ?{ 1. Factors influencing consumer behavior
( 2. Competitive factors in the market
?{ 3. Impact of advertising on buying behavior

75 4. Marketing Mix

Question ID : 54592730459

Comprehension:
Answer the questions based on the following passage:

Almost every one grows up in the world which is flooded with the mass media e.g. television,
advertising, films, videos, billboards, magazines, movies, music, newspaper, and internet. Of
all marketing weapons, advertising is renowned for its long lasting impact on viewer’s mind,
as its exposure is much broader. Advertising is a subset of promotion mix which is one of the
4P’s in the marketing mix i.e. product, price, place and promotion. As a promotional strategy,
advertising serves as a major tool in creating product awareness in the mind of a potential
consumer to take eventual purchase decision. Advertising, sales promotion and public
relations are mass-communication tools available to marketers. Advertising through all
mediums influence audiences, but television is one of the strongest medium of advertising
and due to its mass reach; it can influence not only the individual’s attitude, behaviour, life
style, exposure and in the long run, even the culture of the country.

The major aim of advertising is to impact on buying behaviour; however, this impact about
brand is changed or strengthened frequently in people’s memories. Memories about the brand
consist of those associations that are related to brand name in consumer mind. These brand
cognition influence consideration, evaluation, and finally purchases. The principal aim of
consumer behaviour analysis is to explain why consumers act in particular ways under certain
circumstances. It tries to determine the factors that influence consumer behaviour, especially
the economic, social and psychological aspects. When young people choose advertising
information and characters as their role models, they may not only identify with them but also
intend to copy them in terms of how they dress and what they are going to buy.

In today’s dynamic world, it is almost impossible for advertisers to deliver advertising
message and information to buyers without use of advertising. Certainly, this may be because
of the globalization and accessibility of hundreds of channels for the viewers of this modern
era. Now a days, due to globalized economy, this made available a bulk of marketing stimuli
to the modern consumers. More often consumerism describes the way of equating personal
happiness, with purchasing material possessions and consumption in excess of one’s need.

SubQuestion No : 20
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Q.20 Consumerism is defined in the passage as:

Ans x 1. It is one of the factors in marketing mix.
x 2. Consumerism is a negative outcome of a globalized economy.
X 3. Consumerism is an influence on consumer’s attitude and behavior.

“ 4. Equating personal happiness with material possessions.

Question ID : 54592730460 ]
Section : General Hindi1
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Ans x 1.9
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X 3.5eA
X 4
Question ID : 54592730472 ]
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75 3. e

o 4 @

Question ID : 54592730462
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Question ID : 54592730470 ]

Q.5
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Q.6
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Question ID : 54592730483 ]
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Question ID : 54592730492 ]
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Question ID : 54592730491

Comprehension:

T & a1 3afod e T afeT HR g & 3ok iU

ATTaTeh JNIT T HheTcT o Hos T i 1 379d faehra o a1 &1 efacha #erge # veA a7
Y ATF o Fe &T0M 3 &Y ST T AT AP Y TWITAT F AT| 38 ATFA T Jghrelat
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HHeldT o AR, &, [, Frea 3T Tt ol 1 O L Earear o AATOT 67 9RoT &1 7o Feir
FAHT IR FATIATIRRY QT T ofeT | 3T HeAT T TSIl el AT A& R eeT FelT SarT
3TMHHAUT el & TIT ET-TAATOT o TATT T 2T o FI=Ter aday T fe2m & e aoie ol § 1 51
TR AT AT et oY -Gl Y HRhIRT STefclr AR Hafed ATg T & g1 o7 i S T
feh T AR U T3l el SRl o FIGTrA H & o o 3T I &, 31T I T Ayt
Seteh! SritaT 8 31Tevarey 8Y STaI | 37T g T FdwTer AT TR SA1er A 3R g & S|
AT o Aedensor 1 AT a9 T & | e 3 A7 3 S fem 3198 718, 38 &
TR 3HTST Sclet SeTel ATAES Fa7 I &, Ttk SANaT F T Fartrer 31t s sar §1 3/
&t qraToTT Y AHUTH TAT Tel QAT & TN & Aot & AT WY ST @ &1 3T TATHT & AT H Teh
$TIHT 37T 31X fAea-faaarer o1 917 1 @ R W@

SubQuestion No : 16
Q16 g3.a3 Zor 3myfore RemERY ereareT 4t ao @ §2
Ans " 1. 379 HATET T T FA & 3T A
75 2. 330 QAT 3 A B & SeAT A
75 3. aEaRe 5791 & SR
W 4. 33T TR SHTIR e & 3edeT

Question ID : 54592730499 ]

Comprehension:

T & a1 3afod e A afeT HRX g F Ieak IfiT|

damforen SRt &1 AT & FeTsT &Y g 7 39 e & o 81 gfacir wgrgg F veA an
Y ATFT o Fe &T0M 3 &Y ST T Ao AT Y T F AT| 38 ATFA T Jgehredat
T o ARG, &, e, e 3 Feft it a1 Q& et & fAaior v 9o & for gafr
HIR 3R FATIATIRRT AET Faled of37 | 37 Fell Y TSIl el T LG T Yered Hefl EarT
3TTRHAUT et & ToIT QEA-TAATT & TUTT IR 2T & TAATL et Y 2 7 AT oled ot § | 3T
TR T AT et X Qr-Crelt Y J1RIehiRr STefclr AR wafed UTg T # &1 o7se i S Fehal|
Hfeh O AT U1 T3l Tacle 2l & FIGTordl H $& o o 3 I &, 37 Jg 1 Ayl 7
SeTeh! GYeT 8 e g SR | 37T: G T F=ITer AT JTRIhIer &ATer oY 37ared g1 & S|
AT & AT Y JSTATT T 8T & | TEAEAT & AT 7 S feemm 3r9ars a7s, 38 i &
HTHR TSI 3N Sooicl AFAEA T 914 §, To¥Teh TlaT & egraeh faaArer 3o fewrs usar g | 31
&1 GETOTT Y AehUTH TUT Tt QAT 3 TGN & Uehol o6 A Wl 51T T 8 | 3T JATHT o6 Hel & Teh
IR 3Tcih 3N TaRa-Ta=ATr T #1771 & @I 8 |

SubQuestion No : 17
Q7 ey aa7 i AR AIfF 7 U Irgera A gIT?
Ans 1 3@RH A e A
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Question ID : 54592730498

Comprehension:

T fedr a1 3rafsd e 1 afer AR g2 & Ik ST

ATTaTeh JNIT T Aol o Hof s T §fg T 3799 fashr o &1 § | efachar #grgg & vea a5
T QAT =¥ e &TOT 3 €1 ST T o1 AT Y RIS < 7| 3 AT T Fghrollet
eI o AR, &, T, e 3nfe Tef et o 0 et & fasvor 6y 9xom & fos gefr
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Q.18

Ans

https://cdn.digialm.com//per/g01 /pubWéé%MMHMQ[S%@@%JQQ§dJQH 258019281/1258019281512D560/156801460859...

FAT 3R FATAATIRNT AT Tl o3| 37 JalT T TRITAT ot AT AT W Ao Fell GaRT
JTHAUT el & Tl Q- TAATOT & F2TeT 9T 327 & TI=ITer ahdey &hr T2 o QrEATe aetel ofdl &1 §o7
TAGRT & JAVT glet TR -Gt Y 3HTRIehTer Siete 3R Fufeet Us @&y # € a7se &l S Fehaft|
Hfeh Oh AT U1 T3 Tacie <2l & FIGTordl H $& o o 3 I &, 37 Ig 1 Ayl 7
SeTeh! GYeT 8f ITar g SIRAAT | 37T: G T FE=rer AT JTeIhier &ATer ot 37ared g1 & S|
AT : AEFOT Y JSTATT T 6T & | AEAEAT & AT 7 i fe2rm 39118 078, 38 &
AR TS S Seted AEATET o7 31 &, ToreTah o @ camores fayemer 3ot s usar §1 3@
&t q{aToTt & AerUTH TAT Tel AFAT & YT & Aot & AT TN ST I8 & 1 3T JATHT & FHeT 7 Teh
IR 3TTceh 31T TaRa-Ta=Ter T o737 13y 7§ X T &
SubQuestion No : 18
‘SIS AT AT @S UsaT &1’ 50 919 & “3MHeer” FT AT FATR?

of 1. 3T afeq @ arer)

75 2. el afea A& @t aren|

/X 3.%0 FHF 915 °fed g1 aren|

X 4. Tre & T3y & ufed @1 are|

Question ID : 54592730501

Q.19
Ans

Comprehension:

A g 9 3rafsa sreier Y ufew 3R wea & 3ear QfST|

feen FeT 1 Fherd & Heysd Y gfg 1 31qd faera i fom B1 efaciha #grge # veA a7
T QAT =¥ e &TUT 3 €1 ST T o1 AT Y RIS < 7| 34 AT T Fghrollet
HHeldT o AR, &, e, h1ea 37 T ol 1 O et o AATOT 67 SRoT &F o Feir
FIY 3R FATIATIRRY QT ST ol | 31T HeAT T TSIl Flel AT -G R Aeer Fefl SarT
3THHAUT el & TIT EF-TAATOT o TATT T 2T o TR ahday T fe2m & e aoied ol § 1 51
TR AT AT glet oY -Gl Y HTUhIRT STeAcr AR Hufed A8 T & g v A S Fha|
feh WO AR U1 Tl el SRt o TIGTerdl 7 $& o o 3T IR &, 31T Jg T oyt
Seten! SritaT 8 HTvarey 8Y ST | 37cT: g T FdwTer AT JTRIhIer oA1er A 3R g & S|
AT o1 AT 1 AT a9 T & | AT 3 TAATOT 7 Y = 3719118 778, 386 &
TR 3T Sclet SeTel ATATE Fa7 I §, Ttk 9T & T Fartrer 31t s osar §1 31
&t q{raToTT 2 AHUTH TAT Te¥ AFAT 3 TN & Aot & AT WY ST @ &1 3T TATHT & AT H Th
$TIHT 37T 31 TIea-fA=arer 7 9717 F1 3@ = W R

SubQuestion No : 19
$H AT FT FAITAF 3ugFa e &
/< 1. veH g i i
75 2. 3o AR Fea-faamer &1 sy
o 3. & et
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Question ID : 54592730500
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Comprehension:

T & a1 3afod e A afeT HRX g2 F Ieak GIfIT|

damfoven TRATeT &1 AT & TS &Y g 7 I faera & o B gfaeir grge # veA an
Y ATF o Fe 70T 3 &Y ST T AT AT T TITAT F AT| 38 ATFA T Jghreler

AT o IARHT, &, Toet, rear 3111e Tl ST T O et & fAaTor hr 9xom & for wehr
HIR 3R FATIATIRRT AET Faled of37 | 37 Wl Y TSIl el T LG T Yered Hefl SarT
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3TMHHAUT e & TIT EF-TAATOT o TATT T 2T o TR adey T feem & e aoiey a1 § 1 51
TR AT T et o -Gl Y HehIRr STefctr AR Hafed A1g T & g v i S T
feh T AR U T3l el SRt & FIGTrdl 7 & o o 3T I &, 31T Jg T oyt
SeTeh! SritaT 81 31TvaTe &Y SR | 37T g T FdwTer AT TN A1er A 3R g1 & S|
AT o1 AT 1 AT a9 T & | AT 3 TAATOT 7 Y = 319118 778, 38 &
TR 31T ScleT STl ATATE Fa7 I &, Ttk ST F T Faretrer 31t s osar §1 31
&t q{raTOTT Y AeHUTH TAT Tel QAT 3 TN & Aot & AT WY ST @ &1 3T TATHT & FT 7 Teh
$TIHT 3T 31X fIea-faaarer T 917 F @ R @R

SubQuestion No : 20
Q.20 fRyeq Y wdarer & T & AT Fher-H Drorarr waiftrw gomd g wach &2
Ans X 1. ek 221 Y YOI AT & GATSSA A Y ATl
7< 2. ven afFd & e
X 3. 8- 3R 1 fBrar 1 A
o 4. & et i A

Question ID : 54592730502 ]






